
𝒇 𝒙 = 𝒂 ∙ 𝒙𝟐 + 𝒃 ∙ 𝒙 + 𝒄

Gemischt-quadratische Form

Scheitelform

𝒇 𝒙 = 𝒂 ∙ 𝒙 + 𝒃 𝟐 + 𝒄

QUADRATISCHE ERGÄNZUNG

halbieren quadrieren

addieren subtrahieren

Normalform:  𝑎 = 1 hier: 𝑎 ≠ 1

𝒇 𝒙 = 𝒂 ∙ 𝒙𝟐 + 𝒃 ∙ 𝒙 + 𝒄

⇔ 𝒇 𝒙 = 𝒂 ∙ 𝒙𝟐 +
𝒃

𝒂
∙ 𝒙 +

𝒄

𝒂

𝑎 ausklammern!

Quadrat. Ergänzung

⇔ 𝒇 𝒙 = 𝒂 ∙ 𝒙𝟐 +
𝒃

𝒂
∙ 𝒙 +

𝒃

𝟐𝒂

𝟐

−
𝒃

𝟐𝒂

𝟐

+
𝒄

𝒂

⇔ 𝒇 𝒙 = 𝒂 ∙ 𝒙 +
𝒃

𝟐𝒂

𝟐

−
𝒃𝟐

𝟒𝒂𝟐
+
𝒄

𝒂
ausmultiplizieren!

⇔ 𝒇 𝒙 = 𝐚 ∙ 𝒙 +
𝒃

𝟐𝒂

𝟐

−
𝒃𝟐

𝟒𝒂
+ 𝒄 𝑺 −

𝒃

𝟐𝒂
/−

𝒃𝟐

𝟒𝒂
+ 𝒄



Beispiel

𝒇 𝒙 = 𝟐𝒙𝟐 − 𝟏𝟏𝒙 + 𝟏𝟐 2 ausklammern!

⇔ 𝒇 𝒙 = 𝟐 ∙ 𝒙𝟐 −
𝟏𝟏

𝟐
𝒙 + 𝟔 Quadrat. Ergänzung

⇔ 𝒇 𝒙 = 𝟐 ∙ 𝒙𝟐 −
𝟏𝟏

𝟐
𝒙 +

𝟏𝟏

𝟒

𝟐

−
𝟏𝟏

𝟒

𝟐

+ 𝟔

⇔ 𝒇 𝒙 = 𝟐 ∙ 𝒙 −
𝟏𝟏

𝟒

𝟐

−
𝟏𝟐𝟏

𝟏𝟔
+
𝟗𝟔

𝟏𝟔

⇔ 𝒇 𝒙 = 𝟐 ∙ 𝒙 −
𝟏𝟏

𝟒

𝟐

−
𝟐𝟓

𝟏𝟔
2 ausmultiplizieren!

⇔ 𝒇 𝒙 = 𝟐 ∙ 𝒙 −
𝟏𝟏

𝟒

𝟐

−
𝟐𝟓

𝟖
⇒ 𝑺 𝟐, 𝟕𝟓/−𝟑, 𝟏𝟐𝟓

Computergenerierte Funktion des Beispiels

𝑺 𝟐, 𝟕𝟓/−𝟑, 𝟏𝟐𝟓


